
1) 0.08 × 4 = 0.32 5) 600 ÷ 12 = 50

0.04 × 4 = 0.16 600 ÷ 2 = 300

0.1 × 8 = 0.8 160 ÷ 40 = 4

5 × 12 = 60 0.4 ÷ 0.4 = 1

200 × 2 = 400 10 600 ÷ 1 = 600

2) 50% of 90 = 45 6) 200 = 120 ÷ 0.6

25% × 400 = 100 0.03 = 2.1 ÷ 70

10% of 9 = 0.9 80 = 8 ÷ 0.1

5% × 40 = 2 50 = 45 ÷ 0.9

1% × 800 = 8 100 = 6000 ÷ 60

3) 1 × 100 = 100 7) 12/5 × 102 = 240

0.9 × 1200 = 1080 1/8 of 23 = 1

0.02 × 1000 = 20 1/8 × 7/3 =0.291666666666667

0.9 × 300 = 270 3/8 × 5/11 =0.170454545454545

6 × 0.09 = 0.54 11/100 of 60 = 6.6

4) 11 = 11 × 1 8) 12/99 = 12/11 ÷ 9

50000 = 50 × 1000 36 = 4 ÷ 1/9

0.99 = 0.11 × 9 0.0952380952380952= 2/7 ÷ 3

3500 = 500 × 7 39 = 13 ÷ 1/3

2.4 = 1.2 × 2 91/30 =30.3333333333333÷ 10
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1) 0.08 × 4 = 0.32 5) 600 ÷ 12 = 50

0.04 × 4 = 0.16 600 ÷ 2 = 300

0.1 × 8 = 0.8 160 ÷ 40 = 4

5 × 12 = 60 0.4 ÷ 0.4 = 1

200 × 2 = 400 600 ÷ 1 = 600

2) 50% × 90 = 45 6) 200 = 120 ÷ 0.6

25% × 400 = 100 0.03 = 2.1 ÷ 70

10% × 9 = 0.9 80 = 8 ÷ 0.1

5% × 40 = 2 50 = 45 ÷ 0.9

1% × 800 = 8 100 = 6000 ÷ 60

3) 1 × 100 = 100 7) 12/5 × 102 = 240

0.9 × 1200 = 1080 1/8 of 23 = 1

0.02 × 1000 = 20 1/8 × 7/3 = 7/24

0.9 × 300 = 270 3/8 × 5/11 = 15/88

6 × 0.09 = 0.54 11/100 of 60 = 6.6

4) 11 = 11 × 1 8) 12/99 = 12/11 ÷ 9

50000 = 50 × 1000 36 = 4 ÷ 1/9

0.99 = 0.11 × 9 2/21 = 2/7 ÷ 3

3500 = 500 × 7 39 = 13 ÷ 1/3

2.4 = 1.2 × 2 91/30 = 30 1/3 ÷ 10
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